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Heap representation:
A heap data structure is represented as an array A object with two 
attributes:

length[A] - number of elements in the array,
heap-size[A] - number of elements in the heap.
heap-size[A] � length[A]

In an array A the root of the heap resides in A[1]
Consider a node with index i,

Index of parent is Parent(i) = � i/2�
Index of left child of i is LEFT_CHILD(i) = 2 x i;
Index of right child of i is RIGHT_CHILD(i) = 2 x i+1;
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For nodes at level i , there are 2i nodes . And the work is done for h-i levels.
h= log n

Total work done = � 2i * (h-i)
i=1

h= log n

= � 2i * (log n -i)   (taking h=logn)     
i=1 
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